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Four resistors of resistance R each are connected in parallel. The effective resistance is

. il
®) 4R S ® . =

\M%--. D) 2R

@aCeuranmd R WenseLew 2eaLw bBren@ Wagalwursdesdr Lss Gearmiibe o drerer.
@eueuanoliiblen GgmEuwen WlemsenL

(4) 4R o (B)

=] S

(€) D) 2R

| =

Which one of the following is a powerful reducing agent?
(A) PO, B) P,0,

M H,PO, (D)  H,PO,

Ep&saTLcuDmieT 615 HDbs @@éa@d) syanfl?
A) PO, ' B) PO,
(C) H,PO, - (D) HPO,

Which one of the following gives anisole on heating?
(A) CiH,ONa + CH;0H
(B) CH,OH + CH,Cl

M C.H,ONa + CH,I

D) C H.I + CH;ONa

Qe meuaraunmar arsear GaliLtLPsSard SiafGard Hel éein?
(A) ~ C,H,ONa + CH,0H '
(B) C,H.,OH + CH,Cl

(©)  C4H,ONa + CH,I

(D)  C,H,I + CH,0Na

3 ' AAGS/19
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4. Pick the odd one out:

1. ATP | Adénosine Triphosphate

2. FAD - Flavin Adenine dinucléotide )

3. NAD - Nicotinamide Adenine dinucleotide -

4. EMP - Embden Meyerhof parnas
M 1, | ®)

{0y | | ® 3

Glauniienyar ng_r'rlﬁ]d)eurrg, RENEON Vg,eﬁlsmml;lui@ggjaa. .

1. ATP - =i Camenser LengumavGul.
2. FAD - LiGemellenn <3iiq eneurent Gml_ﬂdc_béa@ﬂGu_mmL_@ .
3. NAD. - BlGamgarano(h é-}Lq_GG)GUTGHT enL_Hlugsetl G rerL_®

4. EMP —  ebLen Guowfranll Lmieay

-@aindle ag selss Lﬂmeﬂmg?
A) 4 o : B) 2
© 1 D) 3

b Advanced family of monocotyledanae is . _

(A) Musaceae . . (B) Poaceae
(C) Solanaceae ; ' \m Orchidaceae

@@ edsHme srours GO bUSSD Guotbu m(H enL_Bs &HDULD

(A Oy lwd _ - (B) GunrGué
(C)  QeraGared (D) e ACLad
6.  Binomial of ‘Vilvum’_ is- ‘
(A)  Acalypha indica {Aegle marmelos
(C)  Cissus quarangularis ' Mimbsa pudlca

- efleveud greuggdlen @ Qemn Gwi
(A)  ssrdur Gewmgam e (B)  agdle wrmbemen
(C)  flgev geurlyri@eamile (D)  awCuwrer Lgsm
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In 19% century population explosion occurred due to
(A)  discovery of vaccination

(B) discovery of antibiotics

(C)  uncontrolled reproduction

M discovery of vaccination and antibiotics

19 b DD TETGE WésET Qsans GLHESLD Suflflgwrengng smrewtid
A) spuufsaier samH g Oy

B)  wEbssaiarm ser(H gLy

(C)  Wslepdlw @ens QQ@&S\;&LE)

D) sHLYS wpmd wEEgEaar semBLigly

Who is the writer of the book ‘I Do What I Do’?
(A) Jairam Ramesh
(B)  Satya Nadella

M Raéhuram Rajan

(D)  Helen Cooper

I Do What 1 Do’ erénp yssssslenan eripdweut wmi?
@) Quuiigmd pGuoey |
B)  eswmprQgaer

(C)  npEumb prege

(D)  Qemeaer gL

How many soldiers came from South Korea coastal gaud team in ship patharon during the
‘year April 2018 for Joint Collaborative training with Indian coastal gaud?

(A) 83 | (B) 85

88 D) 98

guge 2018 o gar® @pdu sLCeory smeud u@LuL&ﬂﬁ@ﬂ &L (puulinfuie vrlCasnhs eubs
usTGrm eremm GgenGarhiu sreued L& sliLald eTéseman elFTa6T 6ubHSeT? -

&) 83 ® 85

© 88 | D) 98

5.  AAGSN9
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10. - Which of the following won UNESCO Asia Pacific Award of Merit 2017?
(A)  Meenatshi Amman Temple, Madurai
W Sri Ranganadhar Temple, Trichy
(C) Ramanatha Swamy Temple, Rameshwaram

(D)  Brihadeeswarar Temple, Thanjavur.

Sénes pevameuppieT L @emevGanelicn pflun LADE oflmE) 2017-g Qeudnp Camie erg?
(&) Bem A eybwen Camuded, e |

B)  uBrhsprst Gende, Smsd

(C)  @umoprssey rrﬂ Garulen, prlLoevaird

™) QysSaveuni Gamudem, sesema,i

11. How many countries signed the Paris climatic change conference on December 20157
A 192 R (B) 162

W 198 | (D) 168

Lq_éFLbI_-Iﬁ' 2015, unfedlé g;am_@ugom u@a.llrﬂemv mnmmg;mg; 50&GWD greuCse @uupggﬁm
m&@u@g@&_l_ B (H&er Grg,g,emm’?

. (A) 192 i (B) 162
(©) 198 ' (D) 168

12. Who is the winner of 11t World Billiards championship in 20167?
(A) Mukesh
(B)  Peter Gillchrist
- (C)  John.Thomas

N2 Pankaj Advant

2016 @m ‘msa)u_@ug')m 1leug) 2 & lS]GiJGlS]L-I_IfHI_GiU smbllwenadls Ll L Geng Cleusmmeur Wi
&)  pGsos | |

(B) Siomdodfevl

(C) QTG STLOG

(D) - uréjasé 2iGeume

AAGS/9 | _ 6 Do | B



13.

14.

Name the proteins wh1ch are caused for the functions and operations of Methano trophlc
bacteria. Choose the correct answer

G MbnB
(i) MbnA
(iii) MbnC
@(iv) MbnD

(A) (1) and (i1) are correct

@ () and (i) are correct

(C) (i) and-(iv) are correct

(D)  (iv) only correct

QwssGearmm ymls Unsefurssefen QEwUT(HSH(EHEE —STyennrer LTSmEET  6Teneu? mﬂu_lrrem
elen_emw Caitey Qs ‘

@ MbnB
(i) MbnA
(iii) MbnC

. (iv) MbnD

@ O mmm (if) sfwrareney
B) @ LoDHmILD (1i1) &Fflwireneney
©) (@) womd (iv) sMwurerenau

D) @{1v) bl G sflwreng

When the Tiangong—1 was disconnected the communication signal from the control station of
china?

(A) 21t April 2016 (B) 21t May 2016
(C) 21t February 2016 ‘ w’ 215t March 2016

I U TGDT & T - 1 Gl"l'_l')'é_}'; () fan eflam@ouafl Flanaows s HLILTL () eniowiSs)L armen Qg,m_rrc;mu @@pg@?
(A) 21 glige 2016 _ B) 21Cw2016
(C) 21 9Qugeuf 2016 o d D) 21 w2016

7 B - = AAGS/19
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15. Match the following :

Some organisations which are under co_ntrolled by the ISRO

(a) Vikram Sarabai space centre 1. Ahmadabad
(b) ISRO satellite centre 2. Tiruvandrum
(¢) Space applicationrcentre 3. Sriharikotta
(d) Sathish Davan Space centre 4. Bengaluru

"
'l
®

a) (b) (c) (d)
2

4. 1 -3

1 4 s B

) 4 1 3 2

(D) 3 4 2 1
sflwurareupenn QUITHSSIE :

ISRO 6flén &ip Gawdubd S wéélw Sienwliger

(a) Y&y FrymLmL GmCSz_sa;ro Qearim 1. SsLETUTS

(b) @evCrmenigenel GgemLi 2. SmauanpbsL|Tbd
() evCuev yLialCaager Clgerm C3. b anflGaml L
(d) &8y geumen Gm(gua;m GlFaom_it 4. Qumigenm

(a) b (d)

@A) 2 4 1 3
® 1 4 3 2
C) 4 1 3 2
D) 3 4 2 i
16. Pradhan Mantri Jan Dhan Yojana scheme was started in the year of
(A) 2016 _ : (B) 2015

% 2014 ' | (D) 2013

Qrsrer wh M mergen Cuirgenm (PMJIDY) AL b Wgmmsiul L. e
(A) 2016 : ' (B) 2015
© 2014 ‘ D) 2013

AAGS/19 : 8



17.

18.

19.

The highest peak of the Aravalli Range is
(A) Kalsubai
(B) Mahendra Giri

_ W Gurushikhar

(D) Nanga Parbat

<4 Teuevedl enad6gTLMe o arer 2 wipnman FErD
(A) asrre'uéﬁuu'_l

B  wCappdy Aif

©) GoHart

D)  mhs Ufaus

Which one of the folIOWing is not an area of sparse population distribution
" (A) The Atacama |
(B) Polar region
w South East Asia
(D) Sahara_
lﬂﬁ:ﬁTGU@QJGUTQJﬁ)Q]G}W erg @mg}éjnm &SET QHmens Lireue Qamer Ligd Y
(A)  oilosmom
B) Fmau uGHser 7
(C) Osern HipsE Swr
(D) &aarrr,r‘rf
The Bramaputra river originate in Tibet and is locally known as
W Tsangpo ' (B) Dihang Dibang
(C)  Ghagra (D) - Son '
ﬁ]m@ggﬂ <M ———— aranp. QuwimLen FEusHer-2 (meurdlmg.
(A) - smmCur S (B) e Hum
(©)  sr&ymw ‘ (D) Gamen
9
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20. Who encouraged the composition of a great musical work called Man Kautuhal?
(A)  Amir Khusrat ' '
(B) Firoz Tughlaq

W Raja Man Singh

(D)  Pir Bhodan

@ “oen saySgise” aTan @ens mie AgTEés Cumsen Uilbgeum wim?
A) O Gevm
B) QuGpmev gisers
(C) gy wer
D) S Cungen

21, Who was repaired the Jama Masjid and Qutb-Minar of Delhi Sultan?
(A) Balban -
M Firoz Tughlaq
- (C) Alauddin Khilji _
(D) Muhammad bin Tughlaq

DODOT @S HHD @g,]L'JLé]Gﬁrffr eTh GlLevedl scbgmen airreogﬁs"\) ug}lﬁlﬁ]é;s;l;ll_ll'_l'_gﬂ? .
Q) uréuen |

(B) QCgmev gisens

€) swreySer g

D) pawgRen g,]é;@ﬁé;

22, Mohenjodara is the largest city. It is estimated to héve spread over on how many hectares?
200 ; (B) 150

(C) 300 ; (D) 175

&b gCleuaf jbaauféjaaaﬂei) Besu@uilu - peyorar  QursesersrGrr  asgamer QansGLT urlamus

QamesrL_g)? .
(A) 200 e (B) 150

(C) 300 : (D) 1_75'—

AAGS/19 10 | B



23.

24.

25.

Who was called Sungam Thavirtha Cholan?
(A)  Raja Raja Chola '
(B) Karikala Chola

W Kulottunga I

(D) - Uttama Chola

&RISLD H6lTHS Camipe eren c";{@;)gpetaaUu@ueuﬁ
A  @ursppmey Campan

(B)  sfare Canpen

(C)  wsamd &Carssgmisa

(D) e gmpwi Campen

Which Amendment also known as the “Nager Palika Act’— providés for setting ﬁp three
types municipal bodies? ‘

(A) 73" Amendment

W 74" Amendment

~(C) 75" Amendment

(D) 76t Amendment

eThs T Sienling Smesn BT LTEET LD cen SHUOLED PG UENSWITET BHTTLE

SIMWLUILI&ET Sanlo ULl euens C&isg) N
(A) 7368 S(mssF s LD |

B) T7ioeug Hmsss sLib

C) T5peug Slmess s L1b

D) 76eug HmsssF LD

Jammu and Kashmir which has a separate constitution for its Government under Article
(A)  Article 337 % Article 370
(C)  Article 356 ' (D) Article 351

g arfueannliy efldufany mbup wHnD srawsi wrlon gHbsan sefl gr,réﬂmcnmmumu
Qubmereng,
(A)  oflH 337 (B) &9 370
(©) 98356 ' (D) 94 351
s N AAGS/19
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26.  The chairman of the drafting committee of the Indian Constitution

(A) Dr. Rajendra Prasad ) W Dr. B.R. Ambedkar
(C) Jawaharlal Nehru (D) Mahatma Gandhi

@n&w cé){r,raﬂLueb_ Slen e a.mm;rmé;l@@ FENGVEUTTE @)(THHSEUT

(A) . Lraom grCeapdly Grens (B) vcrmsim B.R. @wCugsn -

(C)  geuanieme Crm | (D)  warswrsTH |
27. The Balwantrai Mehta committee was appointed in

(A) 1955 (B) 1954

(©) 1951 e 4 : G 1956

UeUBSTTL CoSSTs @(Lp ESHUILILL 6ur(h

(A) 1955 . B) 1954
(C) 1951 | (D) 1956
28.  Article ——————— of the constitution grants rights to minorities to establish educational -
institutions. ' ' -
@) 40 | a0
(C) 50 : o : (D) 60

fmiumenenoulent Heoel @g}leuemréjaémm SAEIFHEGD rHweenoliy] eblgl

A 40 (B)y 30
(Cy - 50 : : (D) 60

29. How many Union Territories are in India?
O ® 6
© 5 - - D) 4

@bHwreilen o erer weflwic ﬂq@g,&rém;aﬂshaammﬂ&ms;
@ 7 | B) 6
€ 5 : (D) 4

AAGSN9 | S 12 , B



30.

31.

Match it :

(a) Adam Smith 1 Welfare definition

- (b) Alfred Marshall 2. Monopolistic competition

_(¢) JR Hicks and RGD Allen 3. Wealth definitiot
(d) E.H. Chamberlin | 4. Indifference curve
@ ® e @
A) 1 2 I R

B 4 3. 2 1

% 3 1 4 g
Dy 2 4 1 3
QU bsgis.
(a) C%I_Lb G‘hJLLr)]gl - 1. p@ @ossmd
(b) ol orrage 2. @ﬁ)g}ﬂ@@ Gum_ig ‘
() JR afgev wpmid RGD wyeven 3l. Qedvel Gavdsammd
(d) E.H. CB&Lbu.r'rs&e‘m | 4.  swCrrée cuamenGCar(

(a) (b) © @

A 1 2 3 4

®) 4 3 2 1

© 3 1 4 &
(D) 2 4 1 3

In which year the national population policy was introduced?

(A) 2015 i o (B) 2020

(C) 2045 : . vﬂf 2000 .

6Th& 2pemt(h Coélw Lbé;&_csh Ggnens Qanarens SiflpsuBSSILLLG?
(A) 2015 o - T (B) 2020
(C) 2045 e £ (D) 2000

13
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32, Steel Industry is popularly called as
(A)  Oldest industry
"(B)  Traditional 1ndust1 v

M Mother industry

(D) Private industry

BmbY G5 Qgmed eramm) e Lp&sUILIHE DS,
A) uyewvwuragtgTea

B)  wrysegTd

(C)  smugbsmpe.

(D)  saflwrr Azl

33. Rearrange the stages of economic growth :
1. The mature étage
2. The take off stage
B The age of high mass cohsumption
4, The traditional society
5. The transitional society

(A) 3,2 1,45 o \@!(45213

Q) -1;4,83:86,2 .- , D) 2,3,4,5,1
Qurr@srrrrgsrrry euaTTES ﬁ]meua;ema‘r cuflensiL(HEs :

1. QuIrmeTTsTy W iTsdbsTan QFLQIssid

2 - Qummerrgmy Gy Hlenay

3 Qurgiwssatler Cureare HISTEHSHTLD

4. UILDEDLOWITET FUPSTIL HELDLIL] (LPEnD
5

-~ wrmib Bleneoulieh 2 6rem FUpSTUID

(A 3,2 1,45 ' (B) 4,52 1,3
(C) 1,4,3 5, 2 D) 2 34,5, 1

AAGS/19 - 14



34.  Match the following : .
' 1922 February 5

(a) Jallianwala Bagh Massacre 1.
(b) Chauri Chaura incident 2. 1919 April 13
- (¢) Swaraj Party 3. 1930 March 12
(d) Dandi March " 1923 January 1
(a) (b) (c) (d)
(A 3 1 2 4
B) 3 1 2
(O 1 2 3 4
2 1 4 3
Sipsam_euheny QLIT([HSEIS :
(a) gmrelwer curewruns u(EsTener 1. 1922 90yeufl 5
(b) Ggerfl Qeerym Hlaspas 2. 1919 glgeé 13
(c) a;u.urrrégﬂus&s s & 3. 1930 wrr& 12
(d) samgqursdany 4. 1923 mameufl 1
@ b © @
A 3 1 2 4
B 4 3 1 g
o 1 2 3. 4
D)y 2 1 4 3
35.  Which commission was drew the boundary line separating India and Pakistan?

w Radcliff Boundary Commission
(B) Kothani Cbmmission
(C) John Simon Commission

(D) Thomas More Commission.

@pSwur-urdlevgmen ereraneani @mﬁmgé;@m-%mwmb eT§I?
(A gridlefll gpememTuid g

(B) 7 Canggmi yenamruin

(8] EDITEIT GNFLDEIT <B,6M GUOTLLILD

(D)  smev apit enemTwiLD

B | _ 15 | AAGS/9
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36. What should come in place of the question mark in the following series?

2, 6,14, 30,7 ., 128

—_—

62 (B).- T2
() 63 | (D) 73

Qemau(md eretr Qgmflé Caerells @Hludll L QL sdled eur Geuarig.wi eTewm 6781 ?

2,6, 14, 30,_7? , 126

(A) 62 : _ (B) 72

(C) 63 , (D) 73
37.. The V;alue of x in'

2yt 32 18

@& 64 - ®) 34

© 30 Ws'

WYemeu pLicuDmIET X -6 ol eremen ?

2 ;o i 182 ‘
(A) 64 - ' (B) 34
(C) 30 : D) 8
: 38. A ﬁv_e rupee coin and a ten rupee coin arerplaced éuch_that they touch each othér. Sum of

their areas is 117 7 mm? and distance between their centres is 15 mm then radii of both
coins are respectively

6 mm, 9 mm (B) 4 mm, 8 mm’

(© 9mm, 12mm (D) 8mm,5mm

P(H aﬁ;gj UMD BIETWAp  UHE UMl Bresnuapd - gearerp@uirermn  Cgrh&mrnGumed
aneudsLILIC_(Demerer. Seuplen LpliLeTeysaflar smpis 117 7 mm? erameyib <eubHDleT enowmISEHEE
Gar Lol e gimb 15 mm erareyd QL6 Sieuallm pramwmisatien <prhiser (papGu

“(A) 6mm, 9mm | - (B) 4 mm, 8 mm
C) 9mm, 12 mm : (D) 8 mm, 5 mm

AAGSS - 6 | ot



24,

40.

41.

'The measures of the angles of a triangle are in the ratio 5 : 4 : 3. Find the angles of the
triangle ‘ '

(A)  65° 60° and 55°

(B)  85° 50° and 45°

(C)  75° 70° and 35°

M 75° 60° and 45°

@@ w&Ganamgdlen epenn Cararbisafiean afl&gnisar 5: 4 : 3 arafle) CaTanT ieTe Hamens ETems.
(A)  65° 60° wHmib 55°
(B) 852, 50° bpmb 45°
(C) - 75° 70° whmib 35°
(D)  75°, 60° wihmib 45°

The diagonal of a square is 20 cm. Find its perimeter

(A) 202 cm ' it . “(B) 54v2 cm

& 10vZ cm ‘ (D) 56¥2 em

(5 s5iTsSen ppenvelLb 20 Ga.15. el ISEN FDDETEL| &HTEHRT. |
&) 20V3 Q5.8 B) 5442 Qs.ib
(©)  40¥Z GsS. - D) 56v3 Gss

A man is walking at a speed of 10 km per hour. After every kilometre, he takes rest for
5 min.- How much time will be take to cover a distance of 5 km? '

(A) 35 min | & 50min

(C) 55 min (D) 40 min

emeui weafldsg 10 &5 G@J&;@ﬁé\) BLbs Qsodprt. @eGeurm HGom BULeny sLbBS e
5 AL rugeT guiay erR&HnTT erafled ieurm 5 6.5 gnrdens ereueuere) Grrodlenr sLLMT?
(&) 3BHO_dms (B) 50 AL isan

(C)  55FO mser - - | (D) 40 AUblL ruser

17 . | AAGS/19
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42, - When two dice are thrown what is the probability of getting a doublet (same number on both

dice)? -
1 1
@ (B) B
1 i 1
© " 5 0/ 5

Bran® usmLsar eleliLGLCUTE QrarH LsmLsalgib @Cr eram eflp Hlapsse]

1 1

(A) = iy o (B) =

o L L.
(©) = (D) e

¢ LS a2
=il g ML

10 - ' 10
iz BY .2
g X ®
10 5
C — : : D) =
(_) T | 3 (D) 5
2 . b .
3 WwHMiD o g Slweupien 5.Qum.o. (L.C.M,) Tg?
10 T | 10
A il . B =
@ 3 B ® 3
10 - 5
C A _ : 15) B
44.  Ratio of surface area of a full sphere to the total surface area of a hemisphere having same
radius is
4 2
4 3 . B - =
V.2 ® 32
(C) 1:2 D 2:1
@Cr o7 oerey Gamam. s Cemagdlar LpLLILGDEGD, S@rECatagdar GwTEsL
UpLurOln@h 2 erer s '
' 4 2
A 4:3 : B) -::=
(A) (B) 3°3
C) 1:2 ' D) 2:1

AAGS/19 _ 18 - B



45.

46.

47.

@ x=0 B g

© x=2 S D x=3

1+£*1+£GI'GUT FOGTUTL 1960 X Gmmg]u ST GHT
Ve T T '+ =

Ay x=0 : B % =1
(©) x=2 Dy x=3

In 1998, the production of tea is 1584 million kgs. Which is 20% more than that in 19917
Find the production of tea in 1991.

(A) 1270 m.kgs. M 1320 m.kes.

(C) 1410 m.kgs. 1520 m. kgs

1998-1b <y Caullene 2 pusd 1584 Bl HCardymd @D, @& 1991-b yan®h Coulema
2 pugderw el 20% agﬂaam ‘_—c;;__y,@m Grsuﬂev 1991-1b <6 () aﬁ,r_nug;gﬂ @EU_JU_II_H._!LL Gaullanaoulem
616 GTauan?

@) 127016.8.8. (B 132016.8.8
© 14108488 D) 1520084

If 20 men can build-a wall 112 meters long in.6 days. What length of a similar wall can be
built by 25 men in 3 days? '

(A) 40 meters ; (B) 50 meters
(C) 60 meters | 70 meters

20 oy sar 6 prsefléd 112 lﬁf}@ﬂ@@iTéT souen Sl g (Ply ST 25 ol &6T 3 Brsafle GTEUGGTEY Beng
SeUeTE SLlg (LG LILITT?

(A) 40 8uii | (B) 508CLi

(C) 60 B D) 708

19 AAGS/19
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48. If a lift is gomg up with acceleration, the apparent weight of a body i 18

(A)
. (B)

(©)

more or less the true weight
equal to the true weight
less than the true weight

W _ more than the true weight

et a_u_srrg.éﬂ En Gg;rrassﬁ @)a;a;uu@m Cung) m@ﬂgeﬁﬂm Gammm eTenL

(A)  oamaw arenLenw el D Sag) Gamnay
(B) o awrenio eTenL_&( S
(C)' 2_@ranio erenl_anil el @Gemmey
(D) éafmmm erenLenwi e cﬂ;@a_%b

49.  Sound waves do not show the phenomenon of

| (A)  refraction '

(B) interference
(C) diffraction

\M polarisation

@60l SiemasenTed srailss @uaTgmel erane?

(A)
(B)
©
D)

elevsen
Gn&EHs0
afafliby eflenaray
san eflanerey

50. The unit of magnetic flux, '_

(A) ohm . (B) wvolt
_ (C)  tesla _ " M wéber_.
STHSLILITLISS 6 <2460,
(A) @b : (B) Geumedt_
(O Giever ' D) Qeuur -
AAGS/19 20



51.

52.

53.

Which one of the following compound undergoes Cannizzaro reaction?

(C) | Acetaldehyde
(D)  Both (B) and (C)

ereu(mLd G&r’rmféjaseﬂcb eTg) a;vairr@sﬂerﬂ@l;rrr alenang@ 2 LHib?
(A)  Quensraigman(®

B) & GLre

(C)_ 8L enan(h

D) (B) wpod (C)

The compound which is used to produce smoke screen is
(A) HPO, " JPHS

(C) PCl, - _ (D) P,0,
Spss@neuDHNIET Umasdamrew e amrésl LweL (b Gamob
(A) HPO, ‘ (Bj «~-PH;
(© PCl, 7 . (D) P,0,

The vernacular name of this small herb with leaves sensitive to. touch is.

~(A)  Mimosa quadrivalvis

(B) Mimosa microphylla

M Mimosa pudica

(D) Mimosa pellita

Qg _awriey OGHS Geneser Q&neﬁﬁL Ay Qag, Gser sreug QUi
(A)  ewCorer Geur Grev@Gaflav . '
B) wCwrer w&HGIT. EPLIGET

(C)  eowCwmer Lgsm 7 _

(D)  eowCorer Queaesiirm

21

D4(GLD.
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54.  Match the following

(a) Corpus luteum
(b)  Graafian follicle
(c) . Sértoli cells
(d). Leydjg’s cells

Testostérone
Inhibidin

Theca interna

ot

Corpus albicans

(a) b  © (d)
NI 1 '
" 3
© 1 2
D) .3 4

N S
(R S

Qurpgs

(a) smiuey @ igwid 1. QuenGLrevie Gymenm
(b) - AgrlaQuien Sunellsdlar 2. @etrauli g e

(¢) Qam CLrad Qavaer 3. Esa&m Qe e |

(d) GSI\.q_éS Qeerser 4. grruev aeinﬂaseifr@fu

@ ® © @

A 2 1 3 4
3B 4 3 2 1
© 1 5 3 4
D 3 4 1 2
55. Which year new rabies vaccine was discovered?
(A) 1905 . (B) 1912

(C) 1985 M 1980

Grissehu yHw sGULE LmBS The 2aTH H6T[H Gy HEiULLg)?
(A) 1905 (B) 1912
(C) 1985 (D) 1980

AAGS/19 el 22



56. How many countries part1c1pated in 21t common wealth games held at Australia?

A) 73 B) 74
@ T - YA

- o dCrelureller peLQuip 2leug smoa@eudws Gurmiiguid Corsshd edsmean HTRSET

uaiGasnmen?
(A" 73 : B 174
) 75 _ D) 171
57. How many points secured by Ms. Manu Bhaker to win the gold metal in the junior world cup

during the year March 2018?

@A) 2349 \/ 235.9

(C) 233.9 235 6

wmis 2018 @b par® peQupp m9aflul 2 wass Carieu Gumiguid ey LTET eTHsamer
yereflser QuDM sRSILSEESMS @SILDDIETT?

(A) 2349 | (B) 235.9

(C) 2339 : (D) 235.6

58. When did the 23 winter Olympics inaugurated at South Korea?
(A) 10t February 2018
“(B) 9t March 2018

\M 9th February 2018

11 February 2018

Qsar@sriluredie 23aug Galfstm gl bids Gur yser Agm rkdu prer arg)?
(A Qureuf 10,2018

(B)  omii&9, 2018 '

(©  QGogeuf 9, 2018

(D)  Quigeuf 11,2018

B 23 | AAGS/19
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59. Who won the 2016 Stéfan Edberg spdrtsmansﬁip award?
(A)  Andy Murray l
(B) Stan Wawrinka
(C) Rafael Nadal

\M Roger Federer

2016-gy,tb Sy eaTIe HETET Gle Li6H 6TL_LITEH aﬁlmmtum'_@ eSymaame 6l mHlenen @u@@@ﬁ wim?
A)  wydng wiGy | | |

B du@;%in aueilfimsm

'(C) o oGLIG BLTE

(D) Coprgm Quigi

60. Recently Indian Nayy launched third Submari'ne of Scorpene class named as |
&) INS Kalvari & INS Karan;
(C)  INS Khanderi (D) INS Arighat

slLigHen @g@u.] BLOUGL pannreugl avariGuer eums B appd sliLiena 2 (HEUMEGSIWIG SiGen

Quuwii
(A) INS 5d}eurrrﬂ (B) INS apang
(C) INS sl (D) INS wiflsm

-~

61. The Longest bone in the human body is
(A) Humerus (B) Spine

& Femur o (D) Tibia
weflg o Lefler W& Beromer erapidLy
(Aj Comens erayib| _ _ = B)  wp#HQsqby

(C) Qg,rreml_ GTEYILDL : D) & @@Qm@mu

AAGS/9’ . 24 ‘ B




62.

63.

64.

ISRO has successfully launched navigation satellite IRNSS-1i into the orbit by which launch
vehicle? ' ‘ |

(A) PSLV-C44 S MPSLV~ C41

(C) PSLV-C42 (D) PSLV-C43

sLoart ledpsrar QsunamssCarar IRNSS-1i-g eflawmleuafl rmﬁ_x_uurremg,ufﬂsb QeupPl&Tons
Apeflug? | |

(A) -PSLV-C4d | | (B) PSLV-CAl

(C) PSLV-C42 (D) PSLV-C43

Name of the cyclone, which is worstly affected in Témil Nadu on November 2018
(A) - Wartha (B) Thane

(C) - Oki . - M Gaja

peubu 20186 gl prenL (ELDW&LDW&; gradhu Lwedlen Guwir ereman?
(A) mﬁg,rr oy B) srGan

© 9o | D) sgr

Blue whale is found in

(A)  Arctic ocean

(B) Pacific ocean

Atlantic ocean

\% Antarctic ocean

- Ba SHlasaD - &;rrem'ruu@m@

A) Tgs sLe
(B) LGS sLG
(C) silerarmgd s

D)  erLnigd sLe

25 o  AAGSN9
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65. When was “Key attributes of effective resolution regimes for financial institutions” adopted
by the FSB (Financial Stablhty Board)‘?

(A)  Oct 2012 - \,ﬁ(oct 2011

(C) Nov. 2012 - ‘ (D) Dec. 2011

“Ibld) Q@mwmm@a;a;nsm Lwggiear Sinranomer 8 @Gmg)a;aﬂm (WPp&EEIW LeTL S ahgj&'.e'rr” FSB (64
Blevaggeanenio & wp)—eaune erliGUTE Thmié Gasrrmmuuz__i_gj’?

A) 2012 cvna;Céerurr : (B) 2011 o&CLmur

() 2012 peuduir (D) 2011 gebuit
66. At which day and year, demonetization was implemented?.

(A)  August 8h 2016
(B) September 8th 2017

' % November 8th 2016

(D) October 8% 2016

vemr UL BEsD — Q&ucbu@ésg,uul'_l_ BTG, 21,6076 6@?
(A) 8 ysevr 2016 '

(B) 8 @slu_ibuir2017

(C) 8 peubur 2016

D) 8 =EGLILIT2016

67.  The region where the Amazon and the Congo rivers traverse is
Eqﬁatorial region -
(B) Temperate region
(C) Polar region
(D) Subtropical region

2(Caren HMID STRGCET < mEaT uﬁuﬁaﬂa&m LOGRITL_GULD 6TS)I?
@A) Y sCsT [ LDGRTL_GVLD

(B) WsGeuliu wer_ewd '

& St

D) s Qeuliu mé&ﬁerLb

AAGS/19 26 ' B



638.

69.

70.

Strong hot wind blow during day time over the northern and north west parts of India are

called as

(A) Mangoshowers : (B) Monsoon

M Loo ' (D) Katabatic

Qidwrede eul &@ wHnb eul CupE LGHudan CaramL srasdd usd Crrsdled eisb euallenwwrer
Qauliussmhm Qeusurm SepssiiLi(REng :

(A)  wrigpsmred _ _ B umeussTHD
©) o . D) slimurigs

The sudden streaks of light seen on a starry night is called as

(A) Comet (B) Asteroids
M Mgteoroids - | (D) DWarf planets
@rey cumailey Hlie @yem grHLIRID @mﬂ&&i{pgm @eueurm empsaliLBHng
(A)  eume pLgslmid : (B) EnraCsrdarsdr
(C) efiplesdmod D) @eraaCamer
Which Temple is considered as the last stage of the Pallava art?

(A) ~ Mandagappattu

% The Vaikundaperumal Temple

(C) Varaha Mandapam
(D) The Kailasanatha Temple

LRI &Ted SLigL & semaufer @mid Flaawsd aThsg)s ST
(A)  waTLslUl ()

B)  eeuEns Gumwrear Camulle

(C)  eupmam wewTLLID '

(D) ey Gmaseﬁrw Brg Camulley

27 ' AAGS/19
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ik Wthh chola king gave permission to the Sailendra ruler of Sri Vljaya to buﬂd a Buddhist
Vihara at Nagapattinam?

(A) Rajendral
W Rajaraja I

(C) RajendralIl

(D) Rajarajall

B&LLIL LgegEled |_|;5g3 DLTEWID  HEMLDES OB Gamyp DGiTemiT ansGaobariTes (e @ g{@]m@
eupridlest?

A wsembd QorCopren
. (B) (PSEOMLD @) TTemmanesm
© @UG&WL_HLIJ_ @rrGam&lyen
(D) @rewrmd Grremyreen

T2 Parantaka I, the son 1 of Aditya I defeated the Pandya ruler and took up the title
' ‘Madurai Kondon

(B) Mudi Kondan

(C) Kadaram Kondon

(D) Jayam Kondan

.(y)g,aurru) P55 Garpeflen waen psmbd ul;rrrg,g,&;m urrmrqm LD GITETTEMIT (Sg,nma;qg,gsg;rreu Qubm
UL U Qo ereen?

(A)  wzer Qararmer
B)  apys Qe metorL_mebr
(C) asLmrb Qameawrren

(D)  Qsguwib CsmerTLmer

T3 In which year first battle of Panipat was fought?
(A) 1536 . - 1526
(C) 1506 (D) 1516

(P&&D ureflul. Guimi BenL_QUDHm <peH
(A) - 1536 R (B) 1526
(C) 1506 (D) 1516

AAGS/19 o 28 _ | B
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77.

5.

The minimum age required for voting in India?

(A) - 21 : T @®B) 30
(C) 25 W 18

Qndurede aursgilanio QUEIEIBDE GODHS SIeTey LIS SGF
@& 21 : | ®) 30
©) . 25 (D) 18

India has an area of how many sq.km.

M 32, 87, 263 sqkm (B) 16,87, 263 sq.km
35, 75, 863 sq.km 3 (D) 30, 26, 863 sq.km

@b BTl e Qmuu@:ﬁ arsgeman g7 HComSL LT G0
(A) 32, 87, 263 sq.km . (B) 16, 87, 263 sq.km
(C) 35,75, 863 sq.km o (D) 30, 26, 863 sq.km

Which rule is known as the heart and soul of the Indian Constitution?
‘(A) Rule 30 N (B) Rule 31
Rule 32 ‘ (D) Rule 33

QbAL Sirdlue siewiider Gusup e ulHLrs smHSILHLD 6SlE
(A) 98 30 (B) 9831,
(C) o4 32 _ (D) &Af 33

Which one is the third and important organ of‘the Government?
(A)  Legislature : 2 (B) Executive .
Judiciary (D) News and Publicity Dept.

SITFTRISSS ST ApETDTaIS) HDID (WPSELILLTET DRISNSS SHSUILHS T5I?

(A sl wampd _ B) Grwer §é W

©) _ B8 sgienm . (D) GQewd wpmb eferbLTsgemD

29
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78. Which one of the following is the modern state? ‘
The welfare state : (B) Communist state
(Cy  Capital state (D) Feudal state

EDEETL_ DM 675 BaSan ST i78?

(A) wés6r pe s B)  svwells ors

(©) wswrelsgien sips . B (D) BHleotldrysgien s
79. World consumer day is celebrated on o :

' March 15 i ~ (B): March 16

(C)  March 14 " 3 (D) - March 11

2 @& BHlETEeUMT glarb erem G}a;n@isrl_rrl;uu@é]mgj?

(&) s 15 | (B) wmis16
(C) wrrg 14 ", ' (D)  wmiFll
80. The major objectives of developmental planning in India may be listed as follows :

1. Toexpand employment opportunity.
2. Universal immunization

3. To Remove bottlenecks in agriculture manufacturing industry and the balance of
payments

(A) 1, 2 and 3 are correct

M only 1 and 3 are correct

(C)  only 2 and 3_&1‘8 correct

(D)  only 3 is correct

QpAw cuarisd) S0 Psellen soawmu Crrésnsmen Spsam ey auflamsiLHssmmd
1. Ceueaeeumiliysener eflfloums@gsa
2. o s emeldd Gmwwg,@uq Wpenm

3. GeuemmewTenio, &mug,eﬂg, QamobHaTene LD[DQJLD eurenflug Qggug@ &mﬂemo S dlweinde
- eUeTTERS HenL_Gener DEDMIFHE

(A l,Zm[DQJLDS&rﬂ
(B) 1whmibd 3wl HGw &M
(€) 2 wpmd 3wl GG s
(D) 3wl HCw af

AAGS/19 - 30 o = ' B



81.

82.

- 83.

India Contributes ———————% of the world sugar production.

@A) 12 : (B) 18

\m’ 15 | - D) 17

o & sT&Esmy 2 HuFSFHuded — ' elpasr_igener @hSwm upmiarerg,.
@A 12 | - (B) 18
() 15 ' - ' D) 17

The process of industrialization is the essential pre-requisite for
(A) Generating employment

(B) Inducing investment

M Achieving economic development

- (D)  Increasing per capita income

- Qsmfle mmmﬁéa@g,d).@g,g')@ & p&EwnTearg) S Gw

(A)  Geuseeuriilienu QLHEEGSW
B) posasmss S H5D
(C)  Qummenrsmy euariéflenw éi@‘d);g,é)

D) saraBLIESDS 2 WTSHIHD

The financial re‘quitement of industries for the short term may be to meet

reqyrement.

Working capital
(B) Fixed capital
(C) - Current capital
(D)  Short term capital

@g,rfgﬂg_’r)&rremuasa‘ﬂédr FlfsCaemas  ereamug Gndu  sre sjemeled . - Gsencuenwl
BerpCeaupmisene GHUINHeSTED. '

A) @mL@mm (PG SELD

(B)  Bybsy epagend

(©C)  mLUy ppagetd |

D)  Enduste ppagerd

31 ' LT AAGS/9
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84. | The plan of Non-Cooperation was'approved by the Indian National Congress which session .
\K Indian National Congress — Nagpur
(B) Indian National Cc_mgreés — Lahore
(C)  Indian National Congress — Mumbai

(D)  Indian National Congress — Chennai

‘gpgmpuron Qussd” LHHu HLb aps GLEH poLGUDD sTEED LIBT LG THnS

QamemeriiLi_L g).

(A) @ndu Csflw sriidyen ABT{H — BIGLLT
7 B) @sdHu Csow s;rrréjaglqcfu IBTH — Ol

©)  Qpdw Csdlw ammudyav wrET{H ~ Apibenis

D) - @‘r_ﬁﬂu Geflw srhidlyen wrpm@H — Qaenaa

85 Who founded the Bharathmatha Association?
(A) Madan Lal Dhingra

(B) Lala Hardayal

| M Nilakanta Bramachari

(D)  Ajith Singh

| urrg;g,mrrg,rr &ré;a%g’%mg, rf,]gmﬂu.mr’r
(A) DSETATED HlBIFT
(B)-- QOITEVIT QIS LITET
(©) SGDBSG!&!TVI_ Qribw&smf

D)  igsdi
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86. In which two consecutive years, Subash Chandra Bose was the President of the Indian

National Congress?

\/ 1938 and 1939

1939 and 1940
(C) 1940 and 1942
(D) 1937 and 1938

eTHS @M %W(b\&;@h QarLihg), suney spSTGUTED GHSIw Cg_r,@tu srhiredien saeaunTa QHHSTI?
(A) 1938 wpmib 1939 | o

(B) 1939 wpmid 1940

(C) 1940 wpmud 1942

(]j) 1937 wpmib 1938

87. Who was the Géneral Secretary of the Congress Socialist Party?
(A)  E.M.S. Numbudri - (B) Rammurti
\V Jai Prakash Narain (D) S.M. Joshi

smadlyev Geragalls sl_fuller dumgsdawiement wimm? _
(A)  @.enb.erev. B (B) gmwepisd

-

(C) Qmuibysmey HrymweR (D) erev.erib. Ggrraﬂ

" The radius of a circular park is 63 m. Find the cost of fencing it at Rs. 12 per meter

\;{ Rs. 4,752 ®) Rs. 7452

(C) Rs. 4,572 (D) Rs. 4,672

@@ el L auigal whisreller b 63 18 %@ @ LBI'_L_@S@.@. 12 efigib, a@ms&& anh Couad
CuL @D C&wey ereme?

&) . 4,752 B @ 7,452

(C) . 4,572 ' , (D) B 4,672

B 33 ~ AAGS/19
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2 —
89. HCF of am+l’am+.. anfd

2

(A) Aam-¢-6 . M anz+1_

© a” - e . D) a
g gt gl A Fweundlberer B.Qum.e. ergy?

(A) am+6 - : (B) a_nHl
(&) a™ ; D) a

90. A sum of money quadruples itself in 24 years under simple interest scheme then rate of

interest is

A) 12.3% ' J 12.5%

©  10% B T o D) 22%

@@ Qe 24 e Baaier saflau iy eizsdled Bren@ L RETEDE crafd aullg 655D cTeUGIGTEY?

A 12.3% : (B) 12.5%
©) 10% - (D) 22%
91. The first man who draw a map with latitude and longitude is
w Ptolgmy : (B) Anaximandor
(C) Alexander ; (D) Erotasthanes

2 edled e (PFeTs G)._jGif)IJ’ll_l L&dler 2 #5Can(p) EréssCarHaman QUGDTH&EUIT WMT?
@ Lol B semsadiGoan_i

(O oQessTeTLiT (D) aGprlLavgefen
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94.

- The GCD and LCM of two polynomials are x + 1 and x° —1 respectively. If one of the

polynomials is x* + 1 find the others
A (@ -+ ' wqﬁf(ﬁ—lxx+u

© (+DE-1) O e (1)

@Qm vegniiys Careameugeien B.HuMmea. LHOID B.Qumw. apepGu x +1 wHmD x% —1 Gugib

m Lsvaymiiilé Gareney x® + 1 earaflé wppeneus FHTEHTS.
A (& -1+ B) (x®-1)(x+1)

©  (x+D-1) - D (x+1’ (" -1)

If m and n are whole numbers such that m" = 121. Then find (m - 1)"”

(A) 800 ™ 1000
(€) 900 E (D) 1020

m whmib n P eraser wpmn m" =121 aafler (m - 1) -éir Ay ST

(A) 800 (B) 1000
(C) 900 s (D) 1020

Deepa and Arun can do a piece of work in 20 days and 30 days respectively. They work
together and Deepa leaves 5 days before the work is finished. Arun finished the remaining
work alone. In how many days is the total work finished?

S 15days (B) 18 days

(C) 12 days : (D) 20 days

EUT OHMID i (Hewr %ﬁ@u;lrr‘r’r am Gaumomu wpapCu 20 prisd wpph 30 prisale Celg

Wi lILi. Sieuisar Gmeum Gmanrhg Geume blaiw Qgrrgdapent. Sur Coumae WixausHEG
5 prlsar wpeararsts Hamm AREpTT. @marn safluns Cauma Geig <ips Caumamul (Pg&EDTT
erarfled iHH Coueney eTEHMET HILGETE) (LpigEuanL b ?

(A) 15 prisar (B) 18 prser

(C) 12 pmiser (D) 20 prlser

35 | S AAGS/19
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_95. - Sixty metres of a uniform wire weighs 80 kg. What will 141 metres of the same wire weigh? -

A 172kg - 168 kg

(C) 182kg \g{ 188 kg

60 BULr Bereperar Eyman s Nullen eran 80 £.8). erafléd, 141 Sr_ i f,err@mm =G5 &b GG GTenL

eTeUGUETEYy?
(A  172kg ' (B) 168 kg
(C) 182kg - (D) 188 kg

96. 2713 _ 4*+2 then find the value of x

(A x=13 . B) x=10
M x=9 : D) x=7
2713 = 472 cafle x —leisr w1 ST

(A) x =13 : : _ ‘ B x=10
© x=9 Dy E=T

97. IfA=1+.%+i+%andB=l+§thenBexceedsA by

i e

(©) D)

rROlw ol

A=1 +%+i+% Gogid B =1 +§ erafled B-wimeng A -gé smigeiib ereucuemey iHlsn?

@ = | ® 1
1 '3
- (C) i - (D) o
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98.

99.

100.

The difference between 90% of a number and 72% of a number is 256 then 54% of that

number is o
768 - (B) 652

) 1024 (D) 512

@it ararenilen 90% wHMID G eramenflen 72% fweupder s wmsd 256 erafléd @;@g, Gremmfﬂsm .
S54% ererLIg) GTemen ?

(A) 768 - , (B) 652
(C) 1024 : (D) 512

How many rectangles are there in the given figure?

@ 24 o, 19
© 22 : PR - D) 14

ﬁ@éss;rr@;)m UL &gl 2_aam Gomss Clecucusmigeatian cremrenfldans wimg)?

F o

@) 24 . ' (B) 19.
(€ 22 D) 14

A man reads ?—5 of a book on a day and g of the remamder on the second day. If the numbel ‘
of pages still unread are 40, how many pages did the book contain?
(A) 240 - (B) 310

320 < (D) 415

s 3 4
6R(MHGUM (T qg_,g,a;g,@e‘m = LDI_IE.I@ LSSEISENET (LP&eD gbnefﬂ@um LS;_?,Q,oGrra'r BELIALL 5 LDL_Mi (G,

LIGSBIGENET @)FesTL_meug) lr,r;rraﬂ@;m UigSSDTT. Hjeum uqa;a;rrum) Bm&HE@D LS msaen crcmmﬂa;sma;
40 erafled, aqug,a;g,;ﬁsu 2 GTeT LGS Sele eTetrent Send wimg?

(A) 240 A ~(B) 310
(C) 320 - D) 415
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Register
Number

2019
GENERAL STUDIES

‘Time Allowed : 2 Hours] ' , [Maximum Marks : 200

Read the following instructions carefully before you begin to answer the questions.

10.

11.
12.

13.

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.

This Question Booklet contains 100 questions. Prior to attempting to answer, the candidates are
requested to check whether all the questions are there in series and ensure there are no blank pages in

_ the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to

the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencernent of examination, it
will not be replaced.

Answer all questions. All questions carry equal marks.

~ You must write your Register Number in the space provided on the top right side of this page. Do not

write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the

.Answer Sheet.

In the Answer Sheet there are four circles @) , (@), (© and (D) against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer

- Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If

for any item, . is the correct answer, you have to mark as follows :

®@® 00

- You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take

this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. After the examination is concluded. you must hand over vour Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with vou only after the Examination is over.
Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

. Applicants have to write and shade the total number of answer fields left blank on the boxes provided

at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank.

Failure to comply with any of the above instructions will render you hable to such action or penalty as
the COIllIIllSSlOI'l may decide at their discretion.




